5. Consider the linear programming problem below (in standard form). (a)
Show that z = (2,1,3,0,2)7 is a feasible solution to the problem. (b)-Show
that d = (1,3,4,1,5)7 is a direction of unboundedness for the problem. (c)
Use parts (a) and (b) to obtain a feasible solution 2’ = x4 d to the problem
such that the value of the objective function at 2’ equals —100. (d) Generalize
part (c) to show that the problem has no optimal solutions.

Minimize 2 = 37, — 223
subject to
2z, — z2. + x4
3z, —2z3 + 25
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